Philadelphia-Paterson AAPF Win Percentage Scenarios

Scenario

Win: 1 point; Draw: 1/2 point;
divided by number of games

Win: 1 point; Draw: no point;
divided by number of games

Not including Phila-Newark
game, Including the two
Paterson-Kearney Unions
December games

Philly 3 W, 0L, 1D)=.875
Patterson (4 W, 1L,2D)=.714
Philadelphia wins

Philly (3 W, 0L, 1D)=.750
Patterson (4 W, 1L, 2 D) =.571
Philadelphia wins

Not including Phila-Newark
game, including only the first
Paterson-Kearney Unions
December game

Philly 3 W, 0L, 1D)=.875
Paterson (4 W, 1L, 1D)=.750
Philadelphia wins

Philly (3 W, 0L, 1D)=.750
Paterson (4 W, 1L, 1D)=.667
Philadelphia wins

Not including Phila-Newark
game, not including the two
Paterson-Kearney Unions
December games

Philly 3 W, 0L, 1D)=.875
Paterson (83W, 1L, 1D)=.700
Philadelphia wins

Philly (3 W, 0L, 1D)=.750
Paterson (83W, 1L, 1D)=.600
Philadelphia wins

Including Phila-Newark game as
Philly loss, including the two
Paterson-Kearney Unions
games

Philly (3w, 1L, 1D)=.700
Paterson (4 W,1L,2D)=.714
Paterson wins

Philly (3 W, 1L, 1 D) =.600
Paterson (4 W, 1L, 2 D) =.571
Philadelphia wins

Including Phila-Newark game as
Philly loss, including only the
first Paterson-Kearney Unions

December game

Philly (3w, 1L, 1D)=.700
Paterson (4 W, 1L, 1D)=.750
Paterson wins

Philly (83 W, 1L, 1D)=.600
Paterson (4 W, 1L, 1D)=.667
Paterson wins

Including Phila-Newark game as
a Philly loss, not including the
two Paterson-Kearney Unions

games

Philly (3W, 1L, 1D)=.700
Paterson (3W,1L,1D)=.700
Philadelphia wins on head-to-
head by defeating Paterson 7-2
on Nov. 10; on Goals Scored
(PHI: 24; PAT 23); Goals Allowed
(PHI: 9, PAT 16); and Goal
Difference (PHI: +15; PAT: +7)

Philly (3 W, 1L, 1 D) =.600
Paterson (83W, 1L, 1D)=.600
Philadelphia wins on head-to-
head by defeating Paterson 7-2
on Nov. 10; on Goals Scored
(PHI: 24; PAT 23); Goals Allowed
(PHI: 9, PAT 16); and Goal
Difference (PHI: +16; PAT: +7)

Including Phila-Newark game as
Philly win, including the two
Paterson-Kearney Unions
games

Philly (4 W, 0L, 1 D) =.900
Paterson (4 W,1L,2D)=.714
Philadelphia wins

Philly (4 W, 0L, 1 D) =.800
Paterson (4 W, 1L, 2 D) =.571
Philadelphia wins

Including Phila-Newark game as
Philly win, including only the
first Paterson-Kearney Unions
December game

Philly (4 W, 0L, 1 D) =.900
Paterson (4 W, 1L, 1D)=.750
Philadelphia wins

Philly (4 W, 0L, 1 D) =.800
Paterson (4 W, 1L, 1D)=.667
Philadelphia wins

Including Phila-Newark game as
Philly win, not including the two
Paterson-Kearney Unions
games

Philly (4 W, 0L, 1 D) =.900
Paterson (83W, 1L, 1D)=.700
Philadelphia wins

Philly (4 W, 0L, 1 D) =.800
Paterson (83W, 1L, 1D)=.600
Philadelphia wins




